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1
1.1
1.1.1
Sample_13.F8B
1.1.2
@
. 7000
| o
e}
Lo
o
e}
o Lo
H
200
2 |o
e}
6 000 S|
o
(e} e}
S ] [2
o] oo
5000 500 000 500 500
1 500 1500
8 000
= 10.000(m)
= 1.200(m)
=4
@
(kN/) (kN/1) (kN/n) (KN/1)
8477 2826 16954 5651
8477 2826 16954 5651
4069 1356 8138 2713

FORUMS8




1.1.3

1.1.4

1.1.5

1.1.6

1.1.7

(KN/m®)
y a 22.50
vyt 18.00
yc 24.50
a 1.000
( ) Ko 0.500
CASE-1
( ) Ko 0.500
( ) ko 0.000
CASE-2
( ) Ko 0.000
qd = 0.000 (kN/m?)
) )
0.0 0.0
0.0 0.0
ock| — 24.00
oca| N/mm’ 8.00 12.00
oca| N/mm’ 8.00 12.00
oca| N/mm’ 6.00 9.00
T al| N/mm’ 0.390 0.580
T al| N/mm’ 0.390 0.580
T a2 | N/mm’ 1.700 2.550
T oa| N/mm’ 1.60 2.40
T oa| N/mm’ 1.60 2.40
Ec N/mm? 2.50 x 10°
—_— — SD345
osa| N/mm’ 180.00 270.00
«C ) osa| N/mm 180.00 270.00
o sa| N/mm’ 200.00 300.00
( Es Ec ) n — 15.0

FORUMS8




1.1.8

1.1.9

1.1.10

ock| — 24.00
oca| N/mm’ 8.00 12.00
T al | N/mm’ 0.390 0.580
T a2 | N/mm’ 1.700 2.550
T oa| N/mm’ 1.60 2.40
Ec N/mm* 2.50 x 10°
—_— — SD345
osa| N/mm’ 180.00 270.00
o sa| N/mm’ 200.00 300.00
( Es Ec ) n — 15.0
(cm)
10.0
10.0
10.0
10.0
10.0
10.0
10.0
11.0
11.0
11.0
11.0
11.0
11.0
T 250 (kN)
100.0 ( )
B =100.00 ( )
B =100.00 ( )
@
)
(€)

FORUMS8




1.1.11

Kh = 0.20
Kh = 0.20
V. (H.14.3)

KEA = 0.21 + 0.90 kh

FORUMS8




1.2
1.2.1
@
case No
1 I
@
case
1 () 250(kN)
2
3
®
case No
1 - .
4
case No No
1 1 o
2 2 o
3 3 o
®)
case No No
1 1

FORUMS8




1.2.2 (case-1)

500

VVYVVVVVVVVVVVVVVVVVVVVVVYVVVVVVVVVVVTVVTY $

/ ,,,L,ﬂ% ,,,,,,,,,,,,,,,,,,,,,,,,, + ,,,,,,, |

@

W= 0.500 x 24.50 = 12.25 (kN/m?)
@

W= 0.500 x 24.50 = 12.25 (kN/m?)
©)

W= 0.500 x 24.50 = 12.25 (kN/m?)
®

wl = 0.500 x 24.50 = 12.25 (kN/m?)

W2 = 0.600 x 24.50 = 14.70 (kN/m?)
®)

w=0.500 x 1.200 x 4 x 24.50 / 10.000 = 5.88 (kN/m?)

@
a
= 1.000 x 0.000 x 22.50 = 0.00 (kN/m?)
= 1.000 x 0.500 x 18.00 = 9.00 (kN/m?)
Swd = 9.00 (KN/m2)
@

qd = 0.000 (kN/m*)

®

w= 9.00+ 0.00= 9.00 (kKN/m?)

FORUMS8




*

0.000 x 22.50 = 0.00 (kN/m?)
4.100 x 18.00 = 73.80 (kN/m?)
= 0.00 (kN/m?)
>~ = 73.80 (kN/m?)
0.000 x 22.50 = 0.00 (kN/m?)
4.000 x 18.00 = 72.00 (kN/m?)
= 0.00 (kN/m?)
> = 72.00 (kN/m?)
pi = Kox (gd + Yoxy a+ Zoxy )
Ko : = 0.500
= 0.500
qd = 0.00
Yo = 0.000
y a: = 22.50
y = 18.00
Zo0 (m
@
Zo (m) p (kN/m%)
P 0.500 4.50
P 0.750 6.75
ps 4.350 39.15
Pa 4.600 41.40
@
Zo (m) p (kN/m?)
p: 0.500 4.50
P 0.750 6.75
ps 4.350 39.15
Ps 4.600 41.40

(kN/m?)
(m

(kKN/m?)
(kN/m?)

FORUMS8




€))

@

No L1 L1+L2
L1 (m) L2 (m) gl (kN/m*) g2 (kN/m*)
1 1.000 0.100 5.85 5.85
2 1.100 0.400 5.85 7.65
No L1 L1+L2
L1 (m) L2 (m) gl (kN/m%) g2 (KN/m*)
1 0.000 0.400 7.65 5.85
2 0.400 0.100 5.85 5.85
No L1 L1+L2
L1 (m) L2 (m) gl (kN/m*) g2 (kN/m*)
1 0.000 5.000 3.67 3.67

FORUMS8



100. 0 kN

-
500

1.2.3 (case-1)
17 250 (kN)
|
i
i
i
i
i
i
i
i
Ffj;,L,m,,i, ,,,,,,,,,
2XPX (1+1)
Pl+i = ———
2.75
(P1+i) X B
Pvl = ——
2XD + Do
PI+i :
P (kN)
i
Pvl (kN/m?)
D
Do (m)
B
2 X 100.0 X (1 + 0.300)
Pl+i =
2.75
94.55 X 1.000
Pvl = = 78.79 (kN/m)
2 X 0.500 + 0.20
D
(kN/m?) (m) (m)
78.79 2.650 1.200

(KN/m)

= 0.500 (m)

= 94,55 (kN/m)

FORUMS8




- 10 -

@

wl = 0.00 (kN/m*)
p = Kox wl = 0.500 x 0.00

0.00 (kN/m?)

®

wl = 0.00 (kN/m?)
p = Kox wl = 0.500 x 0.00

0.00 (kN/m?)

FORUMS8
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1.2.4 (case-2)
2
10. 00 kN/mi
[
=
— Lo
= e 7 =
= | 3
= | ! =]
= ! | b
—= | i -
= ! ‘ =
= | ! =
= 1 | =
= | i =
= | | =
= | | =
= i | =
| |
| \
2 ailk:
S S U R B
S ji—-
@
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
)
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
®

w=wl = 10.00 (kN/m?)

FORUMS8
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1.2.5 (case-3)
=
[ |
\ \
| \
| \
| \
| \
| \
i [ ] i
| ’ \
e i)
No L1 T L2 i Do 0 W plstZ P
(m) (kN) (m m ¢ m (kN/m) | (KN/m)
1| 2.125|100.00 | 1.750 | 0.300 | 0.500 [45.0 | 1.300 100.00 40.00
L1 (m
L2 (m)
T« (1+1)
plst = T
Woo=po+ =0
tan 6
_ plsten
p =1
plst 1 1 (kN/m)
T 1 (kN)
i
W (m)
Do (m)
D = 0.400 (m)
0 )
p Im (kN/m?)
n 1 =4
L = 10.000 (i)
@
No 1 ckvm) (m) (m)
1-1 40.00 2.125 1.300
1-2 40.00 3.875 1.300

FORUMS8
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1.2.6

kh = 0.20
kh = 0.20
@
wh = 12.25 x 0.20 = 2.45 (kN/m?)
)
wh = 12.25 x 0.20 = 2.45 (kN/m?)
(€)
wh = 12.25 x 0.20 = 2.45 (kN/m?)
4)
whl = 12.25 x 0.20 = 2.45 (kN/m?)
wh2 = 14.70 x 0.20 = 2.94 (kN/m?)
®)
wh = 5.88 x 0.20 = 1.18 (kN/m%)
KEA = 0.21 + 0.90 kh = 0.3900
PEA = KEA (y z+q")
pEAh = pEA cosd E
KEA
0 E =10.0 (° )
PEA z(m) (kN/m?)
% = 18.00 (kN/m*)
q" = 0.00 (kN/m?)
q"=qd + Yo ya
qd = 0.000 (kN/m?)
Yo = 0.000 (m)
y a = 22.50 (kN/m*)
PEAh : z(m)
z pEAh
(m) (kN/m?)
0.500 3.46
0.750 5.19
4.350 30.07
4.600 31.80

(KN/m2)

FORUMS8
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1.3

No
1 -1
2 -1 -1
3 -1 -2
4 -1 -3
5 -1 -1

FORUMS8
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1.4
1.4.1

1.4.2

1 3
4 5
6 7 8 10 11

No X(m) Y(m)
1 0.000 3.600
2 3.250 3.600
3 6.500 3.600
4 0.000 1.800

6.500 1.800
6 -0.750 0.000
7 0.000 0.000
8 0.750 0.000
9 5.750 0.000
10 6.500 0.000
11 7.250 0.000

FORUMS8
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1.4.3

1.4.4

1.4.5

A=1.0x
I =10 x /12
A=( x x )/
1= {( x /7 12) x Y7/
No A(M) 1(m")
1 1 2 0.5000 0.0104
2 2 3 0.5000 0.0104
3 1 4 0.5000 0.0104
4 4 7 0.5000 0.0104
5 3 5 0.5000 0.0104
6 5 10 0.5000 0.0104
7 6 7 0.5500 0.0142
8 7 8 0.5500 0.0142
9 8 9 0.2400 0.0050
10 9 10 0.5500 0.0142
11 10 11 0.5500 0.0142
E =2.50 x 10" (kN/m*)
=1.00 x 10° (/ )
E =2.50 x 10" (kN/m%)
=1.00 x 10° (/ )
kv ku kv ku
(KN/m?) | (kN/m?) | (KNZm?) | (KNZmD)
7 8477 2826 16954 5651
8 8477 2826 16954 5651
9 4069 1356 8138 2713
10 8477 2826 16954 5651
11 8477 2826 16954 5651
kv :
ku :

FORUMS8
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1.4.6

(kN/m)

(kN/m)

(kN.m/rad)

0

0

FORUMS8
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1.5

23. 7
15. 4
-30.5
5820

N

FORUMS8

g 'gg- m w 1°69 i !
......... s \ / @\.@@
1 2G|

L "85 ANy

geg-

—-23. 7
-15.4
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§'90T-

g 90T~

g

0°¢9

€66

33.5

~/25. 3

€911

FORUMS8



- 20 -

6 75—

6 79—

€L

1%

1 ¢5-

oo
3}
T

-19. 11+

FORUMS8



- 21 -

8 84—

8 "849-

-17.8

135

..... 1 -

28, 1

/._O/Qm.ﬁ

FORUMS8



- 22 -

T 96—

-19.1

T°61-

089

6 °Tv

29.7

G'LS

/13.7

~1=72. 4

g OF—t---

—45.

o~
o
T

2.3

FORUMS8
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1.6
1.6.1 ( )
M kN.m -106.5 145.2 -106.5
N kN 33.5 33.5 33.5
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 15.35 0.00 15.35
o’ 0.00 21.68 0.00
D16 @125 D— 0— D16 @125
cm’ D— @—— D— @— D— @——
15.888 —_— 15.888
D— @0— D19 @125 D— 0—
o’ D—@¢— | D—0— | D—O—
E— 22.920 E—
X cm 12.190 13.946 12.190
oc N/mm? 5.09 6.09 5.09
os N/mm’ 174.21 170.78 174.21
o ca N/mm? 8.00 8.00 8.00
o sa N/mm’ 180.00 180.00 180.00
— 2 2 2
M kN.m -106.5 145.2 -106.5
N kN 33.5 33.5 33.5
Mu kN_m 219.1 307.6 219.1
Mc kN.m 82.5 82.5 82.5
1.7M kN.m 181.0 246.8 181.0
0.008 Al cm’ 0.33 0.33 0.33
As’ cm’ 15.89 22.92 15.89
As cm’ 15.89 22.92 15.89
OK OK OK
2 2 2
0.008 Al

DMu Mc, 2)1.7M Mc, 3)As 5(cm?), 4)As
K

Mc

1.,2) 3).4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=200.00(N/mm*)
= 6.50(N/mm*)

FORUMS8
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M kN.m -106.5 -64.8 -84.6
N kN 116.3 139.0 153.1
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 12.90 5.36 8.14
o’ 12.90 5.36 8.14
D16 @125 D16 @125 D16 @125
cm’ D— @—— D— @—— D— @——
15.888 15.888 15.888
D16 @125 D16 @125 D16 @125
cn’ D— @0—— D— 00— D— 0——
15.888 15.888 15.888
X cm 13.229 15.447 14.682
gc N/mm’ 4.90 2.91 3.84
gs N/mm’ 148.77 69.40 99.22
oca N/mm? 8.00 8.00 6.00
o sa N/mm’ 180.00 180.00 180.00
_— — 2 2 2
M kN.m -106.5 -64.8 -84.6
N kN 116.3 139.0 153.1
Mu kN._m 263.6 267.4 269.7
Mc kN.m 89.4 91.3 92.5
1.7M kN.m 181.0 110.2 143.9
0.008 Al cm’ 1.15 1.37 1.51
As’ cm? 31.78 31.78 31.78
As cm? 15.89 15.89 15.89
E— OK OK OK
E— 2 2 2
0.008 Al

DMu  Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As
K

Mc

1),2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=200.00(N/mm*)
= 6.50(N/mm?)

FORUMS8
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M kN.m -106.5 -64.8 -84.6
N kN 116.3 139.0 153.1
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 12.90 5.36 8.14
o’ 12.90 5.36 8.14
D16 @125 D16 @125 D16 @125
cm’ D— @—— D— @—— D— @——
15.888 15.888 15.888
D16 @125 D16 @125 D16 @125
cn’ D— @0—— D— 00— D— 0——
15.888 15.888 15.888
X cm 13.229 15.447 14.682
gc N/mm’ 4.90 2.91 3.84
gs N/mm’ 148.77 69.40 99.22
oca N/mm? 8.00 8.00 6.00
o sa N/mm’ 180.00 180.00 180.00
_— — 2 2 2
M kN.m -106.5 -64.8 -84.6
N kN 116.3 139.0 153.1
Mu kN._m 263.6 267.4 269.7
Mc kN.m 89.4 91.3 92.5
1.7M kN.m 181.0 110.2 143.9
0.008 Al cm’ 1.15 1.37 1.51
As’ cm? 31.78 31.78 31.78
As cm? 15.89 15.89 15.89
E— OK OK OK
E— 2 2 2
0.008 Al

DMu  Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As
K

Mc

1),2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=200.00(N/mm*)
= 6.50(N/mm?)

FORUMS8
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M kN.m -1.1 2.4 -74.2
N kN 0.0 0.0 0.0
b cm 100.00 100.00 100.00
h cm 60.00 60.00 60.00
d cm 49.00 49.00 49.00
di cm 11.00 11.00 11.00
d2 cm 11.00 11.00 11.00
cm’ 0.12 0.27 9.03
o’ 0.12 0.27 9.03
D16 @125 D16 @125 D16 @125
cm’ D—@—| D— @— D— @——
15.888 15.888 15.888
D16 @125 D16 @125 D16 @125
cn’ D—@—| D— @—— D— 0——
15.888 15.888 15.888
X cm 12.803 12.803 12.803
oc N/mm? 0.04 0.08 2.48
s N/mm? 1.58 3.41 105.22
o ca N/mm? 8.00 8.00 8.00
o sa N/mm’ 180.00 180.00 180.00
_— — 2 3 2
M kN.m -1.1 1.4 -74.2
N kN 0.0 0.0 49.0
Mu kN.m 298.6 298.6 298.6
Mc kN._m 114.8 114.8 114.8
1.7M kN._m 1.9 2.4 126.2
0.008 AL" cm’ 0.00 0.00 0.00
As’ cm’ 31.78 31.78 31.78
As cm’ 15.89 15.89 15.89
E— OK OK OK
E— 2 1 2
DMu Mc, 2)1.7M Mc, 3)As 5(cm?), 4)As’  0.008 Al’
1.2) ,4) oK
Mu , Mc
Al N (0.0080 sa o ca)
o sa =200.00(N/mm?)
oca = 6.50(N/mm°)

FORUMS8




- 27 -

M kN.m -1.1 2.4 -74.2
N kN 0.0 0.0 0.0
b cm 100.00 100.00 100.00
h cm 60.00 60.00 60.00
d cm 49.00 49.00 49.00
di cm 11.00 11.00 11.00
d2 cm 11.00 11.00 11.00
cm’ 0.12 0.27 9.03
o’ 0.12 0.27 9.03
D16 @125 D16 @125 D16 @125
cm’ D—@—| D— @— D— @——
15.888 15.888 15.888
D16 @125 D16 @125 D16 @125
cn’ D—@—| D— @—— D— 0——
15.888 15.888 15.888
X cm 12.803 12.803 12.803
oc N/mm? 0.04 0.08 2.48
s N/mm? 1.58 3.41 105.22
o ca N/mm? 8.00 8.00 8.00
o sa N/mm’ 180.00 180.00 180.00
_— — 2 3 2
M kN.m -1.1 1.4 -74.2
N kN 0.0 0.0 49.0
Mu kN.m 298.6 298.6 298.6
Mc kN._m 114.8 114.8 114.8
1.7M kN._m 1.9 2.4 126.2
0.008 AL" cm’ 0.00 0.00 0.00
As’ cm’ 31.78 31.78 31.78
As cm’ 15.89 15.89 15.89
E— OK OK OK
E— 2 1 2
DMu Mc, 2)1.7M Mc, 3)As 5(cm?), 4)As’  0.008 Al’
1.2) ,4) oK
Mu , Mc
Al N (0.0080 sa o ca)
o sa =200.00(N/mm?)
oca = 6.50(N/mm°)

FORUMS8
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M kN.m -58.4 131.2
N kN 102.1 102.0
b cm 100.00 100.00
h cm 50.00 50.00
d cm 39.00 39.00
di cm 11.00 11.00
d2 cm 11.00 11.00
cm’ 5.61 17.96
o’ 5.61 17.96
D19 @125 D19 @125

cn’ D—@—| D— @——
22.920 22.920
D19 @125 D19 @125

cn’ D—@—| D— @——
22.920 22.920
X cm 16.078 14.189
oc N/mm? 2.42 5.50
gs N/mm’ 51.67 144.15
o ca N/mm? 8.00 8.00
o sa N/mm? 180.00 180.00

_— — 2 2

FORUMS8
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M kN.m -58.4 131.2
N kN 102.1 102.0
Mu kN.m 339.9 339.8
Mc kN.m 88.2 88.2
1.7M kN.m 99.3 223.1
0.008 AL" cm’ 1.01 1.01
As’ cm’ 45.84 45.84
As cm’ 22.92 22.92
E— OK OK
E— 2 2

DMu Mc, 2)1.7M Mc, 3)As 5(cn?),

Mc

1.2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

4)As’ 0.008 AY
0K

=200.00(N/mm*)
= 6.50(N/mm*)

FORUMS8
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1.6.2

« )
S
Thm = Ta
b X d
b = 100.0 (cm)
S d ™m T a L
(kN) (cm) (N/mm*) (N/mm* ) (m
116.3 | 40.00 0.291 0.780 2 0.000
T 99.3 | 40.00 0.248 0.390 2 0.800
T -99.3 | 40.00 0.248 0.390 2 0.800
-116.3 | 40.00 0.291 0.780 2 0.000
-36.4 | 40.00 0.091 0.780 4 0.000
T -28.1 | 40.00 0.070 0.390 4 0.800
T 36.8 | 40.00 0.092 0.390 3 0.800
69.2 | 40.00 0.173 0.780 3 0.000
36.4 | 40.00 0.091 0.780 4 0.000
T 28.1 | 40.00 0.070 0.390 4 0.800
T -36.8 | 40.00 0.092 0.390 3 0.800
-69.2 | 40.00 0.173 0.780 3 0.000
T
L
(H.14.3)
S
Tm = T a
b X d
ta=C X Cpt X Cde X ral
Tm (N/mm?)
S Q)
b = 1000 (mm)
d (mm)
Ta (N/mm?)
Ce
Cpt pt
Cdc
T al :
S d ™m Ta
(kN) (cm) (N/mm?) (N/mm?)
T -3.8 | 44.00 0.009 2.167 3
T -88.8 | 44.00 0.202 0.546 2
T 3.8 | 44.00 0.009 2.167 3
T 88.8 | 44.00 0.202 0.546 2

(N/mm?)

FORUMS8
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(gm) Ce (&; Cpt (3) Cdc
T 44.00 | 1.320 | 0.361 | 1.061 | 0.495| 3.967
T 44.00 | 1.320 | 0.361 | 1.061 — 1.000
T 44.00 | 1.320 | 0.361 | 1.061 | 0.495| 3.967
T 44.00 | 1.320 | 0.361| 1.061 — 1.000
A LT b
Tm= p = ta

S b d Tm T a

(kN) (cm) (cm) (N/mm*) (N/mm®)

-156.2 | 120.00 | 39.00 0.334 0.390

FORUMS8
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1.6.3 ( )
M kN.m -96.1 58.0 -19.1
N kN 45.6 36.3 29.7
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 8.68 0.00 1.17
cm’ 0.00 4.93 0.00
D16 @125 D— 0— D16 @125
cm’ D— @—— D— @—— D— @——
15.888 e 15.888
D— @&— D19 @125 D— @0——
cm’ D— 0—— D— @— D— @—
E—— 22.920 —
X cm 12.486 14.742 14705
gc N/mm? 4.60 2.45 0.91
os N/mm’ 152.01 63.00 23.53
o ca N/mm? 12.00 12.00 12.00
o0 sa N/mm’ 270.00 270.00 270.00
—_— | — 5 5 5
M kN.m -96.1 58.0 -19.1
N kN 45.6 36.3 29.7
Mu kN.m 221.8 308.1 218.3
Mc kN._m 83.5 82.8 82.2
1.7M kN._m 163.3 98.5 32.4
0.008 AL" cm’ 0.30 0.24 0.20
As’ cm’ 15.89 22.92 15.89
As cm’ 15.89 22.92 15.89
E— OK OK OK
E— 5 5 5
DMu Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As'  0.008 AL’
1.2) ,4) oK
Mu , Mc
Al N (0.0080 sa o ca)
o sa =300.00(N/mm?)
oca = 9.75(N/mm?)

FORUMS8
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M kN.m -96.1 -19.7 -24.0
N kN 80.9 110.9 117.7
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 7.92 0.00 0.00
o’ 7.92 0.00 0.00
D16 @125 D16 @125 D16 @125
cm’ D— @—— D— @—— D— @——
15.888 15.888 15.888
D16 @125 D16 @125 D16 @125
cn’ D— @0—— D— 00— D— 0——
15.888 15.888 15.888
X cm 12.772 27.937 24.671
gc N/mm’ 4.44 0.77 0.96
s N/mm? 141.92 -7.38 8.94
o ca N/mm? 12.00 12.00 9.00
o sa N/mm’ 270.00 -300.00 270.00
—_— | — 5 5 5
M kN.m -96.1 -19.7 -24.0
N kN 80.9 110.9 117.7
Mu kN._m 257.6 262.7 263.8
Mc kN.m 86.5 89.0 89.5
1.7 kN.m 163.3 33.6 40.8
0.008 Al cm’ 0.53 0.73 0.77
As’ cm? 31.78 31.78 31.78
As cm? 15.89 15.89 15.89
E— OK OK OK
E— 5 5 5
0.008 Al

DMu  Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As
K

Mc

1),2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=300.00(N/mm*)
= 9.75(N/mm?)

FORUMS8
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M kN.m -19.1 2.2 -87.8
N kN 57.2 68.9 94.0
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 0.55 0.00 6.77
o’ 0.55 0.00 6.77
D16 @125 D16 @125 D16 @125
cm’ D— @—— D— @—— D— @——
15.888 15.888 15.888
D16 @125 D16 @125 D16 @125
cn’ D— @0—— D— 00— D— 0——
15.888 15.888 15.888
X cm 17.701 89.775 13.188
gc N/mm’ 0.83 0.17 4.04
s N/mm? 15.71 -2.32 123.26
o ca N/mm? 12.00 12.00 9.00
o sa N/mm’ 270.00 -300.00 270.00
—_— | — 5 5 5
M kN.m -19.1 2.2 -87.8
N kN 57.2 68.9 94.0
Mu kN._m 253.7 255.6 259.8
Mc kN.m 84.5 85.5 87.6
1.7M kN.m 32.4 3.8 149.2
0.008 Al cm’ 0.38 0.45 0.62
As’ cm? 31.78 31.78 31.78
As cm? 15.89 15.89 15.89
E— OK OK OK
E— 5 5 5
0.008 Al

DMu  Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As
K

Mc

1),2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=300.00(N/mm*)
= 9.75(N/mm?)

FORUMS8
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M kN.m -1.6 -16.9
N kN 0.0 0.0
b cm 100.00 100.00
h cm 60.00 60.00
d cm 49.00 49.00
di cm 11.00 11.00
d2 cm 11.00 11.00
cm’ 0.12 1.28
o’ 0.12 1.28
D16 @125 D16 @125
cn’ D— @0—— D— 0——
15.888 15.888
D16 @125 D16 @125
cn’ D— @0—— D— 00—
15.888 15.888
X cm 12.803 12.803
oc N/mm? 0.05 0.57
s N/mm? 2.30 23.98
o ca N/mm? 12.00 12.00
o sa N/mm? 270.00 270.00
—_— | — 5 5
M kN.m -1.6 -16.9
N kN 8.6 46.7
Mu kN.m 298.6 298.6
Mc kN._m 114.8 114.8
1.7M kN._m 2.8 28.8
0.008 AL" cm’ 0.00 0.00
As’ cm’ 31.78 31.78
As cm’ 15.89 15.89
E— OK OK
E— 5 5

DMu

1),2)
Mu
Al
o sa
oca

Mc, 2)1.7M Mc, 3)As 5(cm’),
)

, Mc
N (0.008c sa o ca)

4)AS  0.008 AL
0K

=300.00(N/mm’)
= 9.75(N/mm?)

FORUMS8
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M kN.m 3.6 -98.3
N kN 0.0 0.0
b cm 100.00 100.00
h cm 60.00 60.00
d cm 49.00 49.00
di cm 11.00 11.00
d2 cm 11.00 11.00
cm’ 0.27 7.92
o’ 0.27 7.92
D16 @125 D16 @125
cn’ D— @0—— D— 0——
15.888 15.888
D16 @125 D16 @125
cn’ D— @0—— D— 00—
15.888 15.888
X cm 12.803 12.803
oc N/mm? 0.12 3.29
s N/mm? 5.14 139.36
o ca N/mm? 12.00 12.00
o sa N/mm? 270.00 270.00
—_— | — 5 5
M kN.m 3.6 -98.3
N kN -8.8 106.3
Mu kN.m 298.6 298.6
Mc kN._m 114.8 114.8
1.7M kN._m 6.2 167.1
0.008 AL" cm’ 0.00 0.00
As’ cm’ 31.78 31.78
As cm’ 15.89 15.89
E— OK OK
E— 5 5

DMu

1),2)
Mu
Al
o sa
oca

Mc, 2)1.7M Mc, 3)As 5(cm’),
)

, Mc
N (0.008c sa o ca)

4)AS  0.008 AL
0K

=300.00(N/mm’)
= 9.75(N/mm?)

FORUMS8
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M kN.m -126.4 93.6
N kN 203.3 145.8
b cm 100.00 100.00
h cm 50.00 50.00
d cm 39.00 39.00
di cm 11.00 11.00
d2 cm 11.00 11.00
cm’ 8.82 6.42
o’ 8.82 6.42
D19 @125 D19 @125

cn’ D—@—| D— @——
22.920 22.920
D19 @125 D19 @125

cn’ D—@—| D— @——
22.920 22.920
X cm 15.786 15.680
oc N/mm? 5.24 3.88
s N/mm? 115.57 86.65
o ca N/mm’ 12.00 12.00
o sa N/mm? 270.00 270.00

E— 5 5

FORUMS8
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M kN.m -126.4 93.6
N kN 203.3 145.8
Mu kN.m 355.6 346.7
Mc kN.m 96.7 91.9
1.7M kN.m 214.8 159.1
0.008 Al" cm’ 1.34 0.96
As’ cm’ 45.84 45.84
As cm? 22.92 22.92
—_— 0K 0K
—_— 5 5
DMu  Mc, 2)1.7M Mc, 3)As 5(cm?), 4)As’ 0.008 Al
1).2) 3).4) 0K
Mu , Mc
Al N (0.0080 sa o ca)
o sa =300.00(N/mm*)
o ca = 9.75(N/mm*)

FORUMS8
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1.6.4

( )
S
Thm = Ta
b X d
b = 100.0 (cm)
S d ™m T a L
(kN) (cm) (N/mm*) (N/mm* ) (m
80.9 | 40.00 0.202 1.160 0.000
T 63.9 | 40.00 0.160 0.580 0.800
T -40.2 | 40.00 0.101 0.580 0.800
-57.2 | 40.00 0.143 1.160 0.000
-45.6 | 40.00 0.114 1.160 0.000
T -38.7 | 40.00 0.097 0.580 0.800
T 2.3 | 40.00 0.006 0.580 0.800
29.7 | 40.00 0.074 1.160 0.000
29.7 | 40.00 0.074 1.160 0.000
T 13.7 | 40.00 0.034 0.580 0.800
T -72.4 | 40.00 0.181 0.580 0.800
-123.8 | 40.00 0.309 1.160 0.000
T
L
(H.14.3)
S
Tm = T a
b X d
ta=C X Cpt X Cde X ral
Tm (N/mm?)
S Q)
b = 1000 (mm)
d (mm)
Ta (N/mm?)
Ce
Cpt pt
Cdc
T al :
S d ™m Ta
(kN) (cm) (N/mm?) (N/mm?)
T 2.8 | 44.00 0.006 4.945
T -53.9 | 44.00 0.123 0.812
T 5.8 | 44.00 0.013 3.188
T 73.3 | 44.00 0.166 0.812

(N/mm?)

FORUMS8
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(gm) Ce (&; Cpt (3) Cdc
T 44.00 | 1.320 | 0.361| 1.061 | 0.277 | 6.087
T 44.00 | 1.320 | 0.361 | 1.061 — 1.000
T 44.00 | 1.320 | 0.361| 1.061 | 0.502 | 3.924
T 44.00 | 1.320 | 0.361| 1.061 — 1.000
A LT b
Tm= dé Ta

S b d Tm T a

(kN) (cm) (cm) (N/mm*) (N/mm®)

135.0 | 120.00 | 39.00 0.288 0.580

FORUMS8
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1.7

1.7.1

1776 1776
1066 1066
N
O O
[ap] [ap]
[ap] [ap]
[aN] [aN]
LO LO
[aN] [aN]
1 .
mm | D16 D16 D16 D16 D16 D16
mm | @250 @250 @250 @250 @250 @250
mm | (D16 ) | (D16 ) | (D16 ) | (D16 ) | (D16 ) | (D16 )
(D) Lm cm 66.6 66.6 | 122.6 37.5| 122.6 37.5
@d cm 40.0 40.0 40.0 40.0 40.0 40.0
(3) Lap cm 56.0 56.0 56.0 56.0 56.0 56.0
cm| 162.6 | 162.6 | 218.6| 133.5| 218.6 | 133.5
Lr cm| 15.00 15.00 15.00 19.00 | 15.00 19.00
Le cm| 177.6 177.6 233.6 152.5 | 233.6 152.5
— 2 2 2 2 2 2
Lm
d
Lap 0
D+@)+(3)
Lm
Lr
Le

FORUMS8
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1.7.2

mm | D19 D19

mm | @250 @250

mm | (019 ) | (D19 )

(1) Lm cm| 198.1 | 198.1
@d cm 40.0 40.0
(3) Lap cm 66.5 66.5
cm 91.6 91.6
Lr cm| 15.00 | 15.00
Le cm| 106.6 | 106.6
— 2 2
Lm
d
Lap 0
@-@-G)
Lr
Le

FORUMS8
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1.7.3

(m) (Mﬂm (MJ@ (MZ@ (me

0.000 -60.0 ~106.5 82.3 -106.5
0.181 -60.0 -85.8 82.3 -85.8
0.361 -60.0 -65.9 82.3 -65.9
0.542 -60.0 -46.6 82.3 -46.6
0.722 -60.0 -28.0 82.3 -28.0
0.800 -60.0 -20.2 82.3 -20.2
0.903 -60.0 -10.1 82.3 -10.1
1.083 -60.0 7.1 82.3 7.1
1.264 -60.0 23.6 82.3 23.6
1.444 -60.0 39.4 82.3 39.4
1.625 -60.0 54.5 82.3 54.5
1.806 -60.0 68.9 82.3 68.9
1.986 -60.0 82.7 82.3 82.7
2.167 -60.0 95.7 82.3 95.7
2.347 -60.0 108.0 82.3 108.0
2.528 -60.0 119.7 82.3 119.7
2.708 -60.0 130.5 82.3 130.5
2.889 -60.0 138.7 82.3 138.7
3.069 -60.0 143.6 82.3 143.6
3.250 -60.0 145.2 82.3 145.2
3.250 -60.0 145.2 82.3 145.2
3.431 -60.0 143.6 82.3 143.6
3.611 -60.0 138.7 82.3 138.7
3.792 -60.0 130.5 82.3 130.5
3.972 -60.0 119.7 82.3 119.7
4.153 -60.0 108.0 82.3 108.0
4.333 -60.0 95.7 82.3 95.7
4.514 -60.0 82.7 82.3 82.7
4.694 -60.0 68.9 82.3 68.9
4.875 -60.0 54.5 82.3 54.5
5.056 -60.0 39.4 82.3 39.4
5.236 -60.0 23.6 82.3 23.6
5.417 -60.0 7.1 82.3 7.1
5.597 -60.0 -10.1 82.3 -10.1
5.700 -60.0 -20.2 82.3 -20.2
5.778 -60.0 -28.0 82.3 -28.0
5.958 -60.0 -46.6 82.3 -46.6
6.139 -60.0 -65.9 82.3 -65.9
6.319 -60.0 -85.8 82.3 -85.8
6.500 -60.0 ~106.5 82.3 -106.5
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(m) (kMTm) (kM.m)

0.000 -76.6 ~106.5
0.100 -76.6 ~103.2
0.200 -76.6 -99.9
0.300 -76.8 -96.8
0.400 -77.0 -93.7
0.500 -77.2 -90.7
0.600 -77.5 -87.9
0.700 -77.7 -85.2
0.800 -78.0 -82.6
0.900 -78.2 -80.1
1.000 -78.4 -77.8
1.100 -78.7 75.7
1.200 -78.9 -73.7
1.300 -79.2 -71.9
1.400 -79.4 -70.3
1.500 -79.6 -68.8
1.600 -79.9 -67.6
1.700 -80.1 -66.6
1.800 -80.4 -65.8
1.800 -80.4 -65.8
1.900 -80.6 -65.2
2.000 -80.8 -64.9
2.100 -81.1 -64.8
2.200 -81.3 -65.0
2.300 -81.6 -65.5
2.400 -81.8 -66.2
2.500 -82.0 -67.2
2.600 -82.3 -68.5
2.700 -82.5 -70.1
2.800 -82.8 -72.0
2.900 -83.0 -74.2
3.000 -83.2 -76.8
3.100 -83.5 -79.6
3.200 -83.7 -82.9
3.250 -83.8 -84.6
3.300 -83.8 -86.5
3.400 -83.8 -90.4
3.500 -83.8 -94.8
3.600 -83.8 -99.5

FORUMS8
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(m) (kMTm) (kM.m)

0.000 -76.6 ~106.5
0.100 -76.6 ~103.2
0.200 -76.6 -99.9
0.300 -76.8 -96.8
0.400 -77.0 -93.7
0.500 -77.2 -90.7
0.600 -77.5 -87.9
0.700 -77.7 -85.2
0.800 -78.0 -82.6
0.900 -78.2 -80.1
1.000 -78.4 -77.8
1.100 -78.7 75.7
1.200 -78.9 -73.7
1.300 -79.2 -71.9
1.400 -79.4 -70.3
1.500 -79.6 -68.8
1.600 -79.9 -67.6
1.700 -80.1 -66.6
1.800 -80.4 -65.8
1.800 -80.4 -65.8
1.900 -80.6 -65.2
2.000 -80.8 -64.9
2.100 -81.1 -64.8
2.200 -81.3 -65.0
2.300 -81.6 -65.5
2.400 -81.8 -66.2
2.500 -82.0 -67.2
2.600 -82.3 -68.5
2.700 -82.5 -70.1
2.800 -82.8 -72.0
2.900 -83.0 -74.2
3.000 -83.2 -76.8
3.100 -83.5 -79.6
3.200 -83.7 -82.9
3.250 -83.8 -84.6
3.300 -83.8 -86.5
3.400 -83.8 -90.4
3.500 -83.8 -94.8
3.600 -83.8 -99.5

FORUMS8
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